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Quiz 12

This quiz is graded out of 10 marks. No books, calculators, notes or cell phones are allowed. You must show all your work, the cor-
rect answer is worth 1 mark the remaining marks are given for the work. If you need more space for your answer use the back of the page.

Question 1. (5 marks) §4.3 #15 Show that if {V|,V,} is linearly independent and V3 does not lie in span{¥,¥}, then {¥,%,%} is
linearly independent.

Svppose i v., U3 s Lucorly 0161”&”_5&»41[/— then thee exils
how zeve K, 5.t . KV, + KVl rK,f}a =0, §U}7’goge: ong kf’f%
this u;n,alées Enal \7;,17; ov !7; s G. Bl %éffd‘? {M,Vfi
® V,#C. Bul v, v 3 i [(s;rfav’é{ lwdbfeudtnt S VEGFEV, i

supppce bwo K, 30, K#d # s f smee L G} o zt&;faV? tdeeuden],
Fr k02 K ? grvigo Vg ¢§/06u4 iV, v

K#0t Ky [ smee Uy ¢ §pen f&,,v’,i
SUﬂoose three Ki%0 Z Siuce Vs ¢ spaen £V, V.3

L

:, kbzﬁ' 7 O {:/[Z,V;’% (s lw’-{“,& ,;;Jweqdfwzf,

Question 2. (5 marks) §4.4 #4d Is the following a basis for P,?
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